


Project : Making new indicator by using 1 pre-made indicator as I described

I have a request of modifying 1 pre-made indicator.
Firstly, take a look at below 1 image, please.
[image: ]
Image of OIH_DMA_Channel_v1.1_2111101812

Now, we are here at 2111101100 (current candle in M15 time frame).
But we cannot read values of 11100400, 11100000, 2111092000 on current candle in M15 time frame.
To read shifted values of H4, new indicator should show values as followings below.
values of 11100400 on current candle of H4 in M15 time frame
values of 11100000 on the 1st previous candle of H4 in M15 time frame
values of 2111092000 on the 2nd previous candle of H4 in M15 time frame

Now, current indicator shows buffers as followings below.
v1   EMA(21) Upper   1.12345
v2   EMA(21) Lower   1.12345
v3   Previous Upper   1.12345
v4   Previous Lower   1.12345
v5   Top Box Upper   1.12345
v6   Top Box Lower   1.12345
v7   Bottom Box Upper   1.12345
v8   Bottom Box Lower   1.12345
v9   1st Top Box Hit   1.12345 / 0.00000
v10  1st Bottom Box Hit   1.12345 / 0.00000

But we can calculate above values on current candle in M15 time frame.
Current setting of “Time Frames” is H4.
If we see above values in H4 time frame, there will be just values on the 1st previous candle in H4 time frame. 
At this moment, we can calculate easily values on the 1st previous candle.
But there are many candles between 1st previous candle of H4 and current candle of H4 in M15 time frame, so we cannot use simply values on the 1st previous candle of H4 in M15 time frame.
So, it should show the shifted values (using “-1”) on current candle of H4 with more buffers as followings below.
v1   EMA(21) Upper   1.12345
v2   EMA(21) Lower   1.12345
v3   Top Box Upper   1.12345
v4   Top Box Lower   1.12345
v5   Bottom Box Upper   1.12345
v6   Bottom Box Lower   1.12345
v7   1st Top Box Hit   1.12345 / 0.00000
v8   1st Bottom Box Hit   1.12345 / 0.00000

v9    Pre EMA(21) Upper   1.12345
v10   Pre EMA(21) Lower   1.12345
v11   Pre Top Box Upper   1.12345
v12   Pre Top Box Lower   1.12345
v13   Pre Bottom Box Upper   1.12345
v14   Pre Bottom Box Lower   1.12345

v15   2nd Pre EMA(21) Upper   1.12345
v16   2nd Pre EMA(21) Lower   1.12345
v17   2nd Pre Top Box Upper   1.12345
v18   2nd Pre Top Box Lower   1.12345
v19   2nd Pre Bottom Box Upper   1.12345
v20   2nd Pre Bottom Box Lower   1.12345


As you can see, buffers of v1 ~ v8 are almost same as current buffers, but “v3 Previous Upper” and “v4 Previous Lower” were removed because there are new buffers likely as v9 and v10.

Buffers of v9 ~ v14 are for values on the 1st previous candle of the shifted candle.

Buffers of v15 ~ v20 are for values on the 2nd previous candle of the shifted candle.


With values of the shifted (“-1” in MA Shift), values on the 1st previous candle from the shifted and values on the 2nd previous candle from the shifted on current candle in M15 time frame, we can easily calculate shifted values of H4 on current candle in M15 time frame.



File name of a new indicator will be “OIH_DMA_Channel_LTF_v1.0”.





Requirement(s)
∙ It should work properly as I described.
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